STATE OF TEXAS COMPTROLLER'S JUDICIARY

QUARTERLY REQUEST FOR COUNTY REIMBURSEMENT OF JUROR PAYMENTS

S.B. 1704, 79th Legislature. Regular Session -

Please	Circle	Claim C	uarter
(1)	2	3	4

COMPTROLLER USE ONLY

AGV	COBJ	TC	FUND	AY	PCA	APPROVAL	DOCUMENT NUMBER	DOCUMENT AMOUNT
241	7612	225	0001	06	13039			D

Mr. David Lloyd

Johnson County District Clerk

P O Box 495

Cleburne, TX 76033-0495

Mail completed form to

COMPTROLLER'S JUDICIARY SECTION

P.O. Box 13528

Austin TX 78711-3528 Call 1-800-531-6411 ext 6-5985

or email judiciary@cpa.state.tx.us

JUROR PAYMENT REIMBURSEMENT REQUEST

CALENDAR CLAIM QUARTER	CLAIM DUE BY	CLAIM WILL BE PAID BY	BALANCE FORWARD	AMOUNT REQUESTED	AMOUNT PAID	BALANCE DUE COUNTY
Jan 1 to Mar 31	Apr 20th	May 31st				
Apr 1 to Jun 30	Jul 20th	Aug 31st				
Jul 1 to Sep 30	Oct 20th	Nov 30st				
Oct 1 to Dec 31	Jan 20th	Feb 28th				

Per instructions on reverse side, please attach supporting documentation with this request for payment.

COUNTY	CERTIFICATION	
Roger Harmon Print Name	, the authorized official of th	ne Commissioner's Court of
Johnson County hereby certify that the amounts requested are	due and payable pursuant to S	ection 61.0015(b)
sign here>>> Kathan Hanna		Date 4/8/13
	10	
COUNTY CON	TACT INFORMATION	1
Person to contact regarding the information on this form	Contact Email	Contact Phone Number
Aretheie Allew, Jury Administrator	artrieaejohnsmcounty	Hx.org (817)556-6843

COMPTROLLER'S JUDICIARY SECTION APPROVAL

I approve this request for payment and to the best of my knowledge this request for payment is true and correct. this payment complies with Section 61.0015 of the Texas Government Code

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 01/01/2013 To 03/31/2013	\$4,710.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
01/15/2013	ADA NORRIS	3	\$120.00	2	\$60.00
02/06/2013	TRACY WATSON	2	\$80.00	. 1	\$30.00
02/26/2013	JERRY MCCULLOUGH	3	\$120.00	2	\$60.00
02/26/2013	STACY WRIGHT	3	\$120.00	2	\$60.00
01/29/2013	ZELDA BERRY	3	\$120.00	2	\$60.00
01/16/2013	BRYAN SMITH	2	\$80.00	1	\$30.00
01/29/2013	ARIANE SUTTON	3	\$120.00	2	\$60.00
02/26/2013	JAN SWANSON	3	\$120.00	2	\$60.00
02/19/2013	CAROL HARVEY	3	\$120.00	2	\$60.00
01/29/2013	KATHLEEN BAKER	2	\$80.00	1	\$30.00
02/06/2013	STEPHANIE DIAZ	2	\$80.00	1	\$30.00
01/16/2013	PATRICK LIOTTI	2	\$80.00	1	\$30.00
01/29/2013	JUDY RECORD	2	\$80.00	1	\$30.00
02/06/2013	WYNONA WALLIS	2	\$80.00	1	\$30.00
01/16/2013	JAMES BEBERMEYER	2	\$80.00	1	\$30.00
01/15/2013	REBECCA PARNELL	3	\$120.00	2	\$60.00
02/26/2013	DANNY LOUDERMILK	3	\$120.00	2	\$60.00
01/16/2013	DWAIN SCHUETZ	2	\$80.00	1	\$30.00
01/09/2013	ANTOINETTE KORBA	4	\$160.00	3	\$90.00
12/10/2012	DEREK SMITH	2	\$80.00	2	\$60.00
01/15/2013	MURRAY MCCOLLUM	3	\$120.00	2	\$60.00
01/09/2013	CHRISTOPHER MAGEE	4	\$160.00	3	\$90.00
02/19/2013	DAMON PATTERSON	3	\$120.00	2	\$60.00
01/15/2013	KEVIN PENNER	3	\$120.00	2	\$60.00
02/19/2013	DIANA BOULTINGHOUSE	3	\$120.00	2	\$60.00
01/29/2013	NATHAN PRICE	2	\$80.00	1	\$30.00
01/09/2013	CRAIG FIELDS	4	\$160.00	3	\$90.00
01/16/2013	RANDALL JEAN	2	\$80.00	1	\$30.00
01/15/2013	MICHAEL MACKIN	3	\$120.00	2	\$60.00
		Audited	/ Judiciary		Page Total :\$1,500.00

Audited / Judiciary Page Total :\$1,500.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 01/01/2013 To 03/31/2013	\$4,710.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
01/09/2013	DENISE OLDHAM	4	\$160.00	3	\$90.00
01/15/2013	ERNEST RUTHERFORD	3	\$120.00	2	\$60.00
01/29/2013	ODIS WILLIAMS	3	\$120.00	2	\$60.00
01/09/2013	BENJAMIN MCPHAULL	4	\$160.00	3	\$90.00
01/09/2013	LAURIE EIDE	4	\$160.00	3	\$90.00
01/29/2013	GARY WYLIE	2	\$80.00	1	\$30.00
01/15/2013	TIMOTHY LACY	3	\$120.00	2	\$60.00
01/29/2013	LLOYD MORRIS	3	\$120.00	2	\$60.00
01/09/2013	NEAL ROBINSON	4	\$160.00	3	\$90.00
01/16/2013	MORRIS LOFTON	2	\$80.00	1	\$30.00
02/06/2013	SARA MONTES	2	\$80.00	1	\$30.00
01/09/2013	STEPHEN RAAB	4	\$160.00	3	\$90.00
02/26/2013	JOHN CHRISTENSON	3	\$120.00	2	\$60.00
01/29/2013	CHANCE LANKFORD	3	\$120.00	2	\$60.00
02/19/2013	DEBORAH HACKETT	3	\$120.00	2	\$60.00
01/09/2013	ELISEO GARZA	4	\$160.00	3	\$90.00
01/09/2013	RICHARD NUGENT	4	\$160.00	3	\$90.00
01/29/2013	LYDIA FRAZIER	3	\$120.00	2	\$60.00
02/26/2013	TORRIBIO OZUNA	3	\$120.00	2	\$60.00
01/29/2013	JIMMY CHAPLINE	3	\$120.00	2	\$60.00
02/26/2013	PAMELA SPIVEY	3	\$120.00	2	\$60.00
01/29/2013	ANNE ROPER	2	\$80.00	1	\$30.00
01/29/2013	SCOTTIE SANDERS	2	\$80.00	1	\$30.00
02/26/2013	AMANDA SMITH	3	\$120.00	2	\$60.00
01/15/2013	NANCY SHONAMON	3	\$120.00	2	\$60.00
01/29/2013	MICHAEL MORAN	2	\$80.00	1	\$30.00
01/29/2013	ELIZABETH TYSON	2	\$80.00	1	\$30.00
01/09/2013	MONIQUE TINSLEY	4	\$160.00	3	\$90.00
02/19/2013	BRYAN BENNETT	3	\$120.00	2	\$60.00
		Audited	/ Judiciary		Page Total :\$1,770.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 01/01/2013 To 03/31/2013	\$4,710.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
01/29/2013	KENNETH THORMAN	3	\$120.00	2	\$60.00
01/29/2013	BRADLEY HUFFMAN	2	\$80.00	1	\$30.00
01/29/2013	KATHRYN HESTER	2	\$80.00	1	\$30.00
02/06/2013	STEVEN STRAYER	2	\$80.00	1	\$30.00
01/29/2013	GREGORY THOMPSON	3	\$120.00	2	\$60.00
02/26/2013	KATHERINE TEDDER	3	\$120.00	2	\$60.00
01/29/2013	ELLEN GARN	2	\$80.00	1	\$30.00
01/15/2013	LINDA OWNBEY	3	\$120.00	2	\$60.00
02/26/2013	MARGARET EVANS	3	\$120.00	2	\$60.00
02/26/2013	CHERYL DAVIS	3	\$120.00	2	\$60.00
01/29/2013	JEREMY VILLANUEVA	3	\$120.00	2	\$60.00
01/29/2013	EMILE COLE	3	\$120.00	2	\$60.00
01/29/2013	MATTHEW ROSSER	3	\$120.00	2	\$60.00
01/09/2013	JAMIE ALLEN	4	\$160.00	3	\$90.00
01/15/2013	LAURENE MONTGOMERY	3	\$120.00	2	\$60.00
02/26/2013	BARBARA CONLEY	3	\$120.00	2	\$60.00
01/15/2013	JOSE PONCE	3	\$120.00	2	\$60.00
01/29/2013	RANDY DERDEN	2	\$80.00	1	\$30.00
01/15/2013	WILLIAM PRUITT	3	\$120.00	2	\$60.00
02/19/2013	TERESA COFFEL	3	\$120.00	2	\$60.00
02/06/2013	WILLIAM MARETH	2	\$80.00	1	\$30.00
01/24/2013	DANNY GREEN	2	\$40.00	1	\$30.00
01/24/2013	FRANCES HAFFORD	2	\$50.00	1	\$30.00
01/24/2013	MOLLIE MIMS	2	\$50.00	1	\$30.00
01/24/2013	JOE BOYD	2	\$50.00	1	\$30.00
01/24/2013	NANCY HOLLAND	2	\$50.00	1	\$30.00
01/24/2013	RICKEY OWEN	2	\$50.00	1	\$30.00
01/24/2013	TERRIE GOODLOE	2	\$50.00	1	\$30.00
01/24/2013	LATRESE HAMM	2	\$50.00	1	\$30.00

Powered By Courthouse on: 01-April-2013

Audited / Judiciary

Page Total :\$1,350.00

	Supporting Documentation	
County Name	Quarterly Date Range	Report Total
JOHNSON COUNTY	From 01/01/2013 To 03/31/2013	\$4,710.00

First Date of Service	Juror First / Last Name	Number of Days Served	Total Amount Paid to Juror	Number of Days Paid Extra \$34	Amount Requested from
01/24/2013	PATTY OWENS	2	\$50.00	1	\$30.00
01/24/2013	JOE HOLLARN	2	\$50.00	1	\$30.00
01/24/2013	JASON CECH	2	\$50.00	1	\$30.00
				Overall Tota	1: \$4,710.00